

Reference No: 240061133-15

Marsa, South



€797,500

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **504**

Bedrooms: 3

Terraced House - For Sale - Marsa

Marsa - New to the market come this Corner semi-detached Terraced house set on 3 roads. This Terraced house consists of an entrance hall, 2 big sitting rooms, bathroom, kitchen/dining room, 3 double bedrooms, main bathroom, washroom and full roof having lovely views. This property also includes a 6 car street level garage. Freehold. Ideal as a family home.

Features

- Ceramic Floor
- Electricity Utility
- Balcony

- Water Utility
- Skirting
- Video Intercom

Rooms

- Kitchen/Dining: 4.01 x 6.76 m (27.11 m2)
- Sitting/Dining: 4.07 x 7.96 m (32.4 m2)
- ✓ Double Bedroom : 3.78 x 4.1 m (15.5 m2)
- Double Bedroom: 3.73 x 4.11 m (15.33 m2)
- Double Bedroom: 6.78 x 4.08 m (27.66 m2)
- Open Space : 13.08 x 2.45 m (32.05 m2)
- Open Space : 3.09 x 3.74 m (11.56 m2)
- ✓ Bathroom : 2.33 x 3.13 m (7.29 m2)
- Bathroom: 3.14 x 2.4 m (7.54 m2)
- Open Space : 1 x 1 m (1 m2)
- Open Space : 1 x 1 m (1 m2)

Gallery























Anthony Bartolo RE/MAX Superior - Fgura

M: 99468455

E: anthony@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta